
Exercice 24 p.91 : 

𝐴 = (𝑦 + 6)² 
𝐴 = 𝑦2 + 2 × 𝑦 × 6 + 62 

𝐴 = 𝑦² + 12𝑦 + 36  

 

𝐵 = (7 + 𝑦)² 
𝐵 = 72 + 2 × 7 × 𝑦 + 𝑦2 

𝐵 = 49 + 14𝑦 + 𝑦²  

𝐶 = (6𝑦 + 5)² 
𝐶 =  6𝑦 2 + 2 × 6𝑦 × 5 + 52  

𝐶 = 36𝑦² + 60𝑦 + 25  

𝐷 = (10𝑦 + 3)² 
𝐷 =  10𝑦 2 + 2 × 10𝑦 × 3 + 32 

𝐷 = 100𝑦² + 60𝑦 + 9  

𝐸 = (4 + 3𝑦)² 
𝐸 = 42 + 2 × 4 × 3𝑦 +  3𝑦 2 

𝐸 = 16 + 24𝑦 + 9𝑦²  

𝐹 = (𝑦² + 3)² 
𝐹 =  𝑦² 2 + 2 × 𝑦² × 3 + 32  

𝐹 = 𝑦4 + 6𝑦² + 9  

 

Exercice 26 p.91 : 

𝐴 = (𝑥 − 2)² 
𝐴 = 𝑥2 − 2 × 𝑥 × 2 + 2² 

𝐴 = 𝑥² − 4𝑥 + 4  
 

𝐵 = (5 − 𝑥)² 
𝐵 = 52 − 2 × 5 × 𝑥 + 𝑥2  

𝐵 = 25 − 10𝑥 + 𝑥²  

𝐶 = (6𝑥 − 1)² 
𝐶 =  6𝑥 2 − 2 × 6𝑥 × 1 + 12 

𝐶 = 36𝑥² − 12𝑥 + 1  

𝐷 = (4𝑥 − 3)² 
𝐷 =  4𝑥 2 − 2 × 4𝑥 × 3 + 32 

𝐷 = 16𝑥² − 24𝑥 + 9  

𝐸 = (3𝑥 − 7)² 
𝐸 =  3𝑥 2 − 2 × 3𝑥 × 7 + 72  

𝐸 = 9𝑥² − 42𝑥 + 49  

𝐹 = (10 − 3𝑥)² 
𝐹 = 102 − 2 × 10 × 3𝑥 +  3𝑥 2  

𝐹 = 100 − 60𝑥² + 9𝑥²  
 

Exercice 55 p.92 : 

𝐴 =  𝑡 + 6  𝑡 − 6  
𝐴 = 𝑡² − 6² 

𝐴 = 𝑡² − 36  
 

𝐵 =  5 − 2𝑡  5 + 2𝑡  
𝐵 = 5² −  2𝑡 ² 

𝐵 = 25 − 4𝑡²  

𝐶 =  3𝑡 + 10  3𝑡 − 10  
𝐶 =  3𝑡 ² − 10² 

𝐶 = 9𝑡² − 100  

𝐷 =  𝑡² + 1  𝑡² − 1  
𝐷 =  𝑡² 2 − 1² 

𝐷 = 𝑡4 − 1  
 

Exercice 17 p.90 : 

𝐴 =  3𝑥 − 4  −𝑥 + 9 +  7𝑥 + 2 (3𝑥 − 4) 
𝐴 =  3𝑥 − 4   −𝑥 + 9 +  7𝑥 + 2   

𝐴 =  3𝑥 − 4  −𝑥 + 9 + 7𝑥 + 2  

𝐴 =  3𝑥 − 4  6𝑥 + 11  

 

𝐵 =  4 − 𝑥  3𝑥 + 5 − (4 − 𝑥) −𝑥 − 2  
𝐵 =  4 − 𝑥   3𝑥 + 5 −  −𝑥 − 2   

𝐵 =  4 − 𝑥  3𝑥 + 5 + 𝑥 + 2  

𝐵 =  4 − 𝑥  4𝑥 + 7  

 
𝐶 =  4𝑥 − 1 ² −  𝑥 + 6  4𝑥 − 1  

𝐶 =  4𝑥 − 1  4𝑥 − 1 −  𝑥 + 6  4𝑥 − 1  
𝐶 =  4𝑥 − 1   4𝑥 − 1 −  𝑥 + 6   

𝐶 =  4𝑥 − 1  4𝑥 − 1 − 𝑥 − 6  

𝐶 =  4𝑥 − 1  3𝑥 − 7  

𝐷 = 3 𝑥 − 5  2𝑥 + 1 +  6𝑥 − 7 (2𝑥 + 1) 
𝐷 =  2𝑥 + 1  3 𝑥 − 5 +  6𝑥 − 7   
𝐷 =  2𝑥 + 1  3𝑥 − 15 + 6𝑥 − 7  

𝐷 =  2𝑥 + 1  9𝑥 − 22  

 

Exercice 18 p.90 : 

𝐴 =  −2𝑥 + 3  5𝑥 + 3 + (−2𝑥 + 3) −𝑥 + 4  
𝐴 =  −2𝑥 + 3   5𝑥 + 3 +  −𝑥 + 4   

𝐴 =  −2𝑥 + 3  5𝑥 + 3 − 𝑥 + 4  

𝐴 =  −2𝑥 + 3  4𝑥 + 7  

 

𝐵 =  4𝑥 − 3  7 − 3𝑥 +  4𝑥 − 3 ² 
𝐵 =  4𝑥 − 3  7 − 3𝑥 + (4𝑥 − 3) 4𝑥 − 3  

𝐵 =  4𝑥 − 3   7 − 3𝑥 +  4𝑥 − 3   
𝐵 =  4𝑥 − 3  7 − 3𝑥 + 4𝑥 − 3  

𝐵 =  4𝑥 − 3  𝑥 + 4  

 
𝐶 =  9𝑥 − 2  −𝑥 + 6 −  2𝑥 + 5  9𝑥 − 2  

𝐶 =  9𝑥 − 2   −𝑥 + 6 −  2𝑥 + 5   
𝐶 =  9𝑥 − 2  −𝑥 + 6 − 2𝑥 − 5  

𝐶 =  9𝑥 − 2  −3𝑥 + 1  

𝐷 = 7𝑥 6𝑥 + 1 − 2 𝑥 + 1 (6𝑥 + 1) 
𝐷 =  6𝑥 + 1  7𝑥 − 2 𝑥 + 1   
𝐷 =  6𝑥 + 1  7𝑥 − 2𝑥 − 2  

𝐷 =  6𝑥 + 1  5𝑥 − 2  

 


